OTroOBOPWU, YITbTBAHUA U NMPUMEPHWN U3TAEQU
HA PELLEHUATA HA NMPAKTUYECKUTE

3A0AYN OT

TEMA 6
Bbnpoe |1 |2 3|4 |5|6 /|7 |8|9|10(11|12|13|14|15|16
OrroBop/| A | b B|b|B|b|Bb|B|Bb B/ B/ B/ I' A BA
17.
C# Java

Even numbers up to 5: 2 4

18.
C#

using System;
class MyProgram

public static void Main()

{
int n = 10, sum = 0;
while (n > @)
{
sum += n;
n -=1;
Console.WriteLine("CymaTta e " + sum);
}
}
Java

public class MyProgram {
public static void main(String[] args) {
int n = 10, sum = 0;
while (n > 0) {

sum += n;
n -=1;
System.out.println("CymaTta e " + sum);
}
}
19.
C#

using System;
class Program

static void Main()

{

int a, b;




Console.Write("BbBegeTte a: ");
a = int. Parse(Console ReadlLine());
Console.Write("BvBegete b: "); b =
Parse(Console.ReadLine());

int.

int temp =
a = b;
b = temp;
Console.WriteLine("Cnepn pasmaHaTa: a=" + a + " b=" + b);
}
}
Java

import java.util.Scanner;
public class Main {
public static void main(String[] args) {
Scanner scanner = new Scanner(System.in);

System.out.print("BbBeneTte a: ");
int a = scanner.nextInt();
System.out.print("BbBegeTte b: ");
int b = scanner.nextInt();
int temp =
a = b;
b = temp;
System.out.println("Cnen pasmaHata: a=" + a + " b=" + b);
}

}

20. 6

21.

teacher course class

NBanoB nHpopmatuka 11

ITerposa MareMaThKa 10

[TerpoBa MaTeMaTHhKa 11

ITetpoBa MareMaTuka 12

Xpucrona Texnonornu 10

KamenoBa | nmreparypa NULL

22. A

23.

Exam_Title AVG(Result)

AHTIMICKHA e3UK

5.25

24. Bn3mozken otroBop: MetonbT SumOfSquares npecmsta cymara oT KBa-
JpaTUTE HA BCUYKY IIENIM YMclia B MHTEpBaia [a, b], BkirountenHo. Pe3ynrarst e
oOmara cyma OT KBaJIpaTUTE Ha YuciiaTa B TO3U UHTEPBAJ.



25. Bp3MOXHO penieHue

C#

using System;
// Bba3oB knac 3a durypa
public abstract class Shape

// ABCTpakTeH MeToA 3a WM3YUC/IeHWe Ha njowTa
public abstract double CalculateArea();

// Knac 3a kpbr
public class Circle : Shape

{

private double radius;
public Circle(double radius)

this.radius = radius;

// TMpepeduHMpaHe Ha MeTofa 3a WM3YUC/EHME Ha MowTa 3a Kpbra
public override double CalculateArea()

{
}

// Knac 3a npaBObIrbJIHUK
public class Rectangle : Shape

{

return Math.PI * radius * radius;

private double length;
private double width;
public Rectangle(double length, double width)

this.length = length;
this.width = width;

// TNpepeduHupaHe Ha mMeToAa 3a M3YUCAEHME Ha naowTa 3a
NpaBoObIrbJHUKA
public override double CalculateArea()

{
}

// Knac 3a TpuUbrbaHUK
public class Triangle : Shape

{

return length * width;

private double sideA;
private double sideB;
private double sideC;
public Triangle(double sideA, double sideB, double sideC)

this.sideA
this.sideB
this.sideC

sideA;
sideB;
sideC;

// TNpepedvHupaHe Ha MeTofa 3a W3YUC/IEHWe Ha nJowTa 3a
TPUBIbHUKA
public override double CalculateArea()

{




double p = (sideA + sideB + sideC) / 2;

return Math.Sqrt(p * (p - sideA) * (p - sideB) * (p -

sideC));
} class Program

static void Main()

{
Circle circle = new Circle(5);
Rectangle rectangle = new Rectangle(4, 6);
Triangle triangle = new Triangle(3, 4, 5);
Console.WriteLine("Circle Area: " + circle.
CalculateArea());
Console.WriteLine("Rectangle Area: " + rectangle.
CalculateArea());
Console.WriteLine("Triangle Area: " + triangle.
CalculateArea());
}
}
Java

// Main.java
public class Main {
public static void main(String[] args) {
Circle circle = new Circle(5);
Rectangle rectangle = new Rectangle(4, 6);
Triangle triangle = new Triangle(3, 4, 5);

System.out.println("Circle Area: " + circle.
calculateArea());

System.out.println("Rectangle Area: " + rectangle.
calculateArea());

System.out.println("Triangle Area: " + triangle.
calculateArea());

abstract class Shape {
public abstract double calculateArea();

class Circle extends Shape {
private double radius;
public Circle(double radius) {
this.radius = radius;
}

@Override

public double calculateArea() {
return Math.PI * radius * radius;

}

class Rectangle extends Shape {
private double length;




private double width;

public Rectangle(double length, double width) {
this.length = length;
this.width = width;

@Override
public double calculateArea() {
return length * width;
}
}

class Triangle extends Shape {
private double sideA;
private double sideB;
private double sideC;
public Triangle(double sideA, double sideB, double sideC) {
this.sideA = sideA;

this.sideB = sideB;
this.sideC = sideC;
}
@Override

public double calculateArea() {
double p = (sideA + sideB + sideC) / 2;
return Math.sqrt(p * (p - sideA) * (p - sideB) * (p -
sideC));

}

26. Cp3naBane Ha TaOnuia Department
CREATE TABLE Departments (
ID CHAR(3) PRIMARY KEY,
Department_Name VARCHAR(100)
);
Cn3naBane Ha Ta0mmna Students
CREATE TABLE Students (
Id VARCHAR(6) PRIMARY KEY,
Student_name VARCHAR(100),
Department_Id CHAR(3),
Results DECIMAL(S,2),
Birth_date DATE,
FOREIGN KEY (Department_Id) REFERENCES Departments(ID)
);
JloGaBsiHE Ha 3aMUCH B TaOJIMIIUTE
— 3a tabmuma Departments
INSERT INTO Departments (ID, Department_Name) VALUES
(,001', 'KoMIIOTHpHH CUCTEMU U TEXHOJIOTHN'),
(,002', "'MabOpMAITIOHHN U KOMYHHKAIIMOHHH TEXHOJIOTHN');



— 3a tabnuna Students

INSERT INTO Students (Id, Student_name, Department_Id, Results, Birth_date)
VALUES

(,233023', 'MBan Iletpos Mpanos', '001', 33.50, '2005-12-23"),

(,233043', ' Anexc dparomupos Kozes', '001', 36, '2005-03-02"),

(,233046', 'MBaiina Croumenosa Huxososa', '002', 30.25, '2005-06-24");

OrroBop: Hanmmere 3asBKa, KOSITO a n3Besie MHGOPMAIKS 32 UMEHATA HA CTY-
ICHTUTE, CIEIMATHOCTTA, 32 KOSITO KaHIUIATCTBAT, U Oajla UM, COPTUPAHU 110
HaMaJIsIBaIl pen Ha 0axa

SELECT S.Student_name, D.Department_Name, S.Results

FROM Students S

JOIN Departments D ON S.Department_Id = D.ID

ORDER BY S.Results DESC;

OTtroBop: Hanmmiere 3asiBKa, KOSITO Jla M3BEJIC MIMEHATA HA CTY/ICHTUTE C HAll-BU-
COK Oai.

SELECT TOP 1 Student_name, Results

FROM Students

ORDER BY Results DESC;

OTtroBop: Hammmiere 3asiBKa, KOSITO [1a BpbIla HHPOpPMAIUS 32 IMEHATa Ha CTICIH-
AJHOCTUTE U OpOsI HA KaHIUIATUTE BbB BCSIKA OT THX.

SELECT D.Department_Name, COUNT(*) AS NumberOfStudents

FROM Students S

JOIN Departments D ON S.Department_Id = D.ID

GROUP BY D.Department_Name;

27.

CH

using System;
using System.Collections.Generic;
class Asset

{
public int AssetId { get; set; }
public string Name { get; set; }
public double InitialCost { get; set; }
public double ResidualValue { get; set; }
public int UsefullLife { get; set; }

}

class DepreciationCalculator

{

private List<Asset> assets;
public DepreciationCalculator()

{
}

assets = new List<Asset>();




public void AddAsset(Asset asset)

{
assets.Add(asset);

public void CalculateDepreciation()
foreach (var asset in assets)

double depreciationAmount = (asset.InitialCost -
asset.ResidualValue) / asset.Usefullife;
double accumulatedDepreciation = 0;
Console.WriteLine($"AssetID: {asset.AssetId}, Name:
{asset.Name}, Initial Cost: {asset.InitialCost:C2}, " +
$"Residual Value: {asset.ResidualValue:(C2},
Useful Life: {asset.UsefullLife}");
Console.WritelLine($"Depreciation:
{depreciationAmount:C2} per year");
for (int year = 1; year <= asset.UsefullLife; year++)
{
accumulatedDepreciation += depreciationAmount;
Console.WriteLine($"Year {year}: Accumulated
Depreciation: {accumulatedDepreciation:C2}");

}

Console.WriteLine();

}
}
}
class Program
{

static void Main()

{
DepreciationCalculator calculator = new
DepreciationCalculator();
Console.Write("Enter the number of assets: ");
int n = int.Parse(Console.ReadLine());
for (int i = @; i < n; i++)
{
Console.WriteLine($"Enter information for asset {i +
1}:7);
string[] input = Console.ReadLine().Split(" ");
Asset asset = new Asset();
asset.AssetId = int.Parse(input[@]);
asset.Name = input[1];
asset.InitialCost = double.Parse(input[2]);
asset.ResidualValue = double.Parse(input[3]);
asset.UsefulLife = int.Parse(input[4]);
calculator.AddAsset(asset);

calculator.CalculateDepreciation();




Java

import java.util.ArraylList;
import java.util.lList;
import java.util.Scanner;
public class DepreciationManagement {
public static void main(String[] args) {
Scanner scanner = new Scanner(System.in);
// YeTeHe Ha 6poA Ha AbAroTpakHWUTE AKTUBMU
System.out.print("Enter the number of assets: ");
int n = Integer.parselnt(scanner.nextLine());
// Cb3paBaHe Ha WMHCTaHumA Ha DepreciationCalculator
DepreciationCalculator depreciationCalculator = new
DepreciationCalculator();
// YeTeHe Ha uHbOpMaLUMATa 3a akTuBUTE M JobaBAHE KbM
DepreciationCalculator
for (int 1 = 90; i < n; i++) {
System.out.println("Enter information for asset " +
(i + 1) +":");
String[] assetInfo = scanner.nextLine().split(" ");
int assetId = Integer.parselnt(assetInfo[0]);
String name = assetInfo[l];
double initialCost = Double.
parseDouble(assetInfo[2]);
double residualValue = Double.
parseDouble(assetInfo[3]);
int usefullLife = Integer.parseIlnt(assetInfo[4]);
Asset asset = new Asset(assetId, name, initialCost,
residualValue, usefullLife);
depreciationCalculator.addAsset(asset);
}

// V34ncnaBaHe Ha amopTM3auMATa U U3BEXAaHe Ha
nHdopmaumAaTa

depreciationCalculator.calculateDepreciation();

depreciationCalculator.displayDepreciationInfo();

}

class Asset {
private int assetId;
private String name;
private double initialCost;
private double residualValue;
private int usefullife;
private double annualDepreciation;
private double accumulatedDepreciation;
public Asset(int assetId, String name, double initialCost,
double residualValue, int usefullLife) {
this.assetld = assetld;
this.name = name;
this.initialCost = initialCost;
this.residualValue = residualValue;




this.usefulLife = usefullLife;

public double getAnnualDepreciation() {
return annualDepreciation;

public void setAnnualDepreciation(double annualDepreciation)
this.annualDepreciation = annualDepreciation;

public double getAccumulatedDepreciation() {
return accumulatedDepreciation;

public void setAccumulatedDepreciation(double
accumulatedDepreciation) {
this.accumulatedDepreciation = accumulatedDepreciation;

public int getAssetId() {
return assetld;
}

public String getName() {
return name;

}
public double getInitialCost() {
return initialCost;

public double getResidualValue() {
return residualValue;

public int getUsefullLife() {
return usefullLife;
}
}

class DepreciationCalculator {
private List<Asset> assets;
public DepreciationCalculator() {
assets = new ArraylList<>();

public void addAsset(Asset asset) {
assets.add(asset);

public void calculateDepreciation() {
for (Asset asset : assets) {
double annualDepreciation = (asset.getInitialCost() -
asset.getResidualValue()) / asset.getUsefullLife();
asset.setAnnualDepreciation(annualDepreciation);
double accumulatedDepreciation = 0;
System.out.println("AssetID: " + asset.getAssetId() +
", Name: " + asset.getName() +
", Initial Cost: ?" + String.format("%.2f",
asset.getInitialCost()) +




", Residual Value: ?" + String.format("%.2f",
asset.getResidualvalue()) +
", Useful Life: " + asset.getUsefullLife());
for (int year = 1; year <= asset.getUsefullLife();
year++) {
accumulatedDepreciation += annualDepreciation;
System.out.println("Year " + year + ":
Accumulated Depreciation: ?" + String.format("%.2f",

accumulatedDepreciation));

asset.setAccumulatedDepreciation(accumulatedDepreciat
ion);

}

public void displayDepreciationInfo() {
for (Asset asset : assets) {
System.out.println("Depreciation: ?" + String.
format("%.2f", asset.getAnnualDepreciation()) + " per year");
System.out.println();
}

}

28.

CH

using System;
using System.Collections.Generic;
class Person

{
public string name;
public int age;
public Person(string name, int age)
{
this.name = name;
this.age = age;
}
}
class Animal
{

public string name;
public int age;
public Animal(string name, int age)

{
this.name = name;
this.age = age;
}
public override string ToString()
{

return $"{name}, {age}";




}

class Zookeeper : Person
{

public Animal favoriteAnimal;

public string specialization;

public Zookeeper(string name, int age, Animal favoriteAnimal,
string specialization)

: base(name, age)
{

this.favoriteAnimal favoriteAnimal;
this.specialization = specialization;

}

public override string ToString()

{
}
}

class Zoo

{

return $"{name}, {age},{specialization}, {favoriteAnimal}";

public string name;

public string location;

public List<Zookeeper> zookeepers;

public Zoo(string name, string location)

{
this.name = name;
this.location = location;
this.zookeepers = new List<Zookeeper>();

public void AddZookeeper(Zookeeper zookeeper)

{

zookeepers.Add(zookeeper);

public void ViewZoo()

{

Console.WriteLine($"Zoo: {name} - {location}");
foreach (var zookeeper in zookeepers)

{
}

Console.WritelLine(zookeeper);

}
}
class Program
{
static void Main()
{
Console.WriteLine("Enter Zoo name:");
string zooName = Console.ReadlLine();
Console.WriteLine("Enter Zoo location:");
string zooLocation = Console.ReadlLine();

ll




Zoo zoo = new Zoo(zooName, zoolLocation);
char option;
do
{
Console.WriteLine("[a]dd [v]iew [q]uit");
option = Console.ReadlLine()[0];
switch (option)
{
case ,a‘:
Console.WriteLine("Enter zookeeper name:");
string zkName = Console.ReadLine();
Console.WriteLine("Enter zookeeper age:");
int zkAge = int.Parse(Console.ReadlLine());
Console.WriteLine("Enter specialization:");
string specialization = Console.ReadLine();
Console.WriteLine("Enter favorite animal
name:");
string favAnimalName = Console.ReadlLine();
Console.WriteLine("Enter favorite animal
age:");
int favAnimalAge = int.Parse(Console.
ReadLine());
Animal favoriteAnimal = new
Animal(favAnimalName, favAnimalAge);
Zookeeper zookeeper = new Zookeeper(zkName,
zkAge, favoriteAnimal, specialization);
zoo.AddZookeeper(zookeeper);
break;
case ,v‘:
zoo.ViewZoo();
break;
case ,q°:
Console.WriteLine("Exiting the program.");
break;
default:
Console.WriteLine("Invalid option. Try
again.");
break;

} while (option != ,q¢);

}

Java

import java.util.ArraylList;
import java.util.Scanner;
class Animal {
String name;
int age;
public Animal(String name, int age) {
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this.name = name;
this.age = age;

@Override
public String toString() {
}

return name + "," + age;
class Person {

String name;

int age;

public Person(String name, int age) {
this.name = name;
this.age = age;

@Override
public String toString() {

return name + "," + age;
}
class Zookeeper extends Person {
String specialization;
Animal favoriteAnimal;
public Zookeeper(String name, int age, String specialization,
Animal favoriteAnimal) {
super(name, age);
this.specialization
this.favoriteAnimal

specialization;
favoriteAnimal;

@Override
public String toString() {
return super.toString() + "," + specialization + "," +
favoriteAnimal.toString();

}

class Zoo {

String name;

String location;

ArraylList<Zookeeper> zookeepers;

public Zoo(String name, String location) {
this.name = name;
this.location = location;
this.zookeepers = new ArraylList<>();

public void addZookeeper(Zookeeper zookeeper) {
zookeepers.add(zookeeper);

}
public void displayInfo() {
System.out.println("Zoo: " + name + " - " + location);




for (Zookeeper zookeeper : zookeepers) {
System.out.println(zookeeper.toString());
}

}

class ZooApp A

public static void main(String[] args) {
Scanner scanner = new Scanner(System.in);
System.out.println("Enter Zoo name:");
String zooName = scanner.nextLine();
System.out.println("Enter Zoo location:");
String zoolLocation = scanner.nextLine();
Zoo zoo = new Zoo(zooName, zoolLocation);
while (true) {

System.out.println("[aldd [v]iew [qJuit");
String option = scanner.nextLine();
switch (option.toLowerCase()) {

nextLine());

name:");

w_n,

case "a
System.out.println("Enter zookeeper name:");
String zkName = scanner.nextLine();
System.out.println("Enter zookeeper age:");
int zkAge = Integer.parseInt(scanner.

System.out.println("Enter specialization:");
String specialization = scanner.nextlLine();
System.out.println("Enter favorite animal

String favAnimalName = scanner.nextlLine();
System.out.println("Enter favorite animal

age:");

int favAnimalAge = Integer.parselInt(scanner.

nextLine());

Animal favAnimal = new Animal(favAnimalName,

favAnimalAge);

Zookeeper zookeeper = new Zookeeper(zkName,

zkAge, specialization, favAnimal);

z0o.addZookeeper(zookeeper);
break;

case "v":
zoo.displayInfo();
break;

case "q":
scanner.close();

System.exit(9);

break;
default:

System.out.println("Invalid option. Try

again.");
}
}
}

}
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